Gene 342 – Tutorial 2
1. Describe the life-cycle of a typical retrovirus. (5) 

2. Briefly describe the experiment that shows that the transposition of the Ty1 element in yeast takes place via an RNA intermediate.  (5)

3. Retrotransposons usually encode three to four ORFs including the genes gag, pol, env, and int.  What are the gene products encoded by these ORFS and what are their functions?  (8)

4. What is the purpose of the poly-A tail found on the 3’ end of LINEs and SINEs? (2)

5. Describe the structure of  Ac and Ds elements in maize. (10)
6. What is the best way of determining whether horizontal gene transfer took place?  (4)

7. Give two reasons why horizontal gene transfer is often hard to detect between eukaryotes.  (4)

8. Give three reasons why HGT does not happen frequently between eukaryotes.  (6)

9. Draw an annotated diagram showing the evolution of sex chromosomes. (12)
